Parts Kit

JUKI GENUINE PARTS

PLC27105/605-7

P/N 40192210

Parts Name : PARTS KIT_PLC27105/6057

PARTS# Description Qty PARTS# Description Qty
© 558080410TP  SCREW 1/8-44 L=3.5 D=2.2 1 ® 40130056 FIXED_KNIFE 2
© B1418141H00 NEEDLE BAR THREAD GUIDE 1 ® S5S6090520SP  SCREW 9/64-40 L= 5.0 2
~ © 21334800 BOBBIN 2 @ 22618706 THREAD TAKE-UP SPRING A 1
% O 40079912 IDLING PRIVENTION SPRING 2 ® 22618805 THREAD TAKE-UP SPRING B 1
E © 40079899 ADJUSTING SCREW 2 ® 40126311 WINDER_CUTTER 1
S @ 40079900 TENTION SPRING SETSCREW 2 ® SM6040800SP  SCREW 2
@ 40079898 TENTION SPRING 2 ® SM1040950TP  SCREW M4 L=9 2
@ 556110480SP  SCREW 11/64-40 L=4.3 2 @® 559110543CP  SCREW 11/64-40 L=5.3 1
© 40130050 MOVING_KNIFE 2 @ SM6040552TP  SCREW M4 L=4.5 1
® 40130055 CLAMP_SPRING 2 @ SM6040802TP  SCREW M4x0.7 L=8 1
@ 556060220SP  SCREW 3/32-56 L=2.0 2

ASLEMCEAIEI10 rANTS K







